








____ + 77 = 100

77 + ____ = 100

100 - ____ = 77

100 – 77 =____

23

23

23

23





A.

B.

C.

D.

E.







How many squares altogether?

What fraction is shaded?

This is a hundred square (there are 100 squares altogether).

One of them is shaded, so           is shaded.
1  _

100



How many rows altogether?

What fraction is shaded?

There are 10 rows altogether.

One of them is shaded, so          is shaded.
1  _

10



I do: Complete the missing values.

Each small square is out of equal squares.

So, each square represents           of the whole amount.

There are 10 equal rows.

So, each row represents         of the whole amount.

1  _

100

1  _

10

1  _ 100  

_



Complete the table.

Number of rows Tenths Hundredths



Complete the table.

Number of rows Tenths Hundredths

2 2 

10

20 

100



Number of rows Tenths Hundredths



Number of rows 

of a hundred 

square

Tenths Hundredths

3

5

9 

10

60 

100

8 

10



Number of rows 

of a hundred 

square

Tenths Hundredths

3 3 

10

30 

100

5 5 

10

50 

100

9 9 

10

90 

100

6 6 

10

60 

100

8 8 

10

80 

100
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